X —TIK2 (A4 A

THMA4E2/R%S

REBMETERAKE ERKESRERBEE

KRR 9:00

KEHEBE®BR (BERERSKE BKHF (RK )
H Xz | KB | KB |B E| oH [FILAY| BE | &% |&Eth| #% v | B &
-3 BEM | A4 A |(BmK
C C E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l AE)
1 & 4.9 7.8 3.6 7.90 58.8 71.9 146 9.6 0.38/ 0.02
2 L 6.0 1.4 6.7 7.79
3 g 3.0 7.3 6.6 7.81
4 g 5.2 1.5 5.9 7.84
5 & 6.1 7.4 5.5 7.77
6 L 4.0 6.9 7.3 7.73
7 & 3.0 6.9 5.5 7.80
8 g 4.0 6.9 6.6 7.80
9 & 4.0 7.9 4.3 7.87
10 53] 3.2 7.8 4.4 7.82
1 & 9.0 7.2 4.1 7.79
12 L 6.0 6.3 3.7 7.74
13 g 5.0 8.0 1.2 7.82
14 g 5.0 7.0 4.7 7.74
15 2 9.0 8.8 4.8 7.75 55.3 75.2 142 12.7 0.32 0.02
16 L 9.0 8.9 4.1 7.86
17 & 5.0 9.6 4.0 7.80
18 L 10.0 8.6 4.8 7.83
19 g 5.8 7.1 4.6 7.78
20 g 9.0 7.9 4.2 1.72
21 & 4.0 9.3 6.9 7.83
22 L 3.6 8.0 4.7 1.77
23 & 3.5 7.8 3.8 7.80
24 L 8.0 8.7 4.1 7.82
25 & 3.0 7.3 4.8 7.71
26 L 1.2 7.6 5.2 7.74
27 & 9.0 1.7 7.4 7.79
28 L 8.0 9.0 4.3 7.78
Ty 5.8 7.8 5.3 | 7.80 | b57.1 73.6 144 11.2 | 0.35| 0.02
== 10.0 9.6 11.2 | 7.90 | 58.8 | 75.2 146 12.7 | 0.38| 0.02
=IE 3.0 6.3 3.6 | 7.72| 55.3| 71.9 142 9.6 | 0.32| 0.02




HwX—TIK2 (A4 A

THMAE2/R%S

REBMETEAKE KEHARBERBREE (ERFKS)

KRR 9:00

KEHEBE®HRE (BERERSKE BEKH GFK )
=} Xz | KB | KE|& E| pH FLHY| BEE RFE | Biew| % TV | EOE
E HEM| A4 Ho
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 & 4.9 7.8 1.1 7.58 53.1 69.9 140 9.5 0.07]  <0.02
2 L 6.0 7.0 1.9 7.50
3 g 3.0 7.0 1.4 7.45
4 £ 52 7.2 1.4 7.44
5 & 6.1 8.0 1.7 7.58
6 L 4.0 1.7 1.8 7.50
7 & 3.0 7.2 1.5 7.59
8 £ 4.0 7.4 1.2 7.58
9 & 4.0 1.7 1.6 7.45
10 53] 3.2 1.5 1.5 7.43
1 & 9.0 8.6 1.5 7.50
12 L 6.0 6.8 1.5 7.49
13 g 5.0 7.8 1.3 7.46
14 £ 5.0 8.0 1.5 7.55
15 2 9.0 8.1 1.3 7.48 49.2 79.1 139 12.8 0.07]  <0.02
16 L 9.0 8.5 1.3 7.53
17 & 5.0 8.8 1.8 7.55
18 L 10.0 8.5 1.5 7.53
19 g 5.8 7.0 3.0 7.51
20 g 9.0 8.3 1.4 7.62
21 & 4.0 8.6 1.8 7.51
22 L 3.6 8.0 1.7 7.65
23 & 3.5 1.6 1.6 7.51
24 L 8.0 8.3 1.1 7.54
25 & 3.0 7.9 1.6 7.54
26 L 1.2 8.1 2.3 7.68
27 & 9.0 8.6 2.0 7.48
28 L 8.0 8.8 2.5 7.61
29
30
31
Ty 5.8 7.9 1.6 | 7.53 | 51.2| 74.5 140 11.2 | 0.07 | <0.02
== 10.0 8.8 3.0 | 7.68 | 53.1 79.1 140 12.8 | 0.07 | <0.02
=IE 3.0 6.8 1.1 7.43 | 49.2 | 69.9 139 9.5 0.07 | <0.02




